
Now if for I) be substituted if = distance one way in miles Instead
of feet.

and for O' be substituted A' = kilowatts delivered Instead of
watts.

and for K be substituted > = /.' : 1000 = line voltage divided by
1000.

and for A1 be substituted Z = a constant = 1080 
the above formula- become

(.1/ x .">2801 x (A" x IIKWI) x /. 
P x (t x 1000)'

1/ K y. 0280000
Pc‘ ' IOOOOOO

x ">702.4

(.1/ x .">280)' x (A'x loom x y/x . I

Z'x (> x 1000)' x II
and (2) total weight = II'———

x y x. i

27.87841/V v A" x 1080 X 0.00

x 272.7840.

Allowing 2.65% for sag. etc., these formula- become

(1) C. .1/. = I/A , x .">804 
' /’>

(2) Total weight = II’

and the weight of copper per kilowatt delivered

mi -^(uy
X ' /

and the weight per mile of a single wire (I) is obtained by 
substituting 3/ x 1/ for 4P in formula (2), thus:

11= 3 .1/ /= (-Y x A x 280
i / P

or (4) — /

by substitution in equations (3) and (4).and (Ô) — 3 / = /. x


